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QID:1-
In the following question, select the number which

can be placed at the sign of question mark (?) from
the given alternatives.

rafaa oy # fr ow fredl # @ uy R
(?) & TUE W A gl FEA H FEAT

10 5
1 6
5 4
55|30 | ?
Options:
1)33
2) 44
3) 66
4) 55
Correct Answer: 44
QID: 2-
How many quadrilaterals are there in the given figure?
& % Al F frae g ¥
Options:
1)6
2)7
3)8
4)9

Correct Answer: 7

QID:3-

the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-1 are numbered from 0 to 4 and
that of Matrixl are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘W’ can
be represented by 30, 95, etc., and ‘P’ can be represented by 13, 89, etc
Similarly, you have to identify the set for the word “CROWN"”.

UH Qe dacl Uh HEAT-GAE arr gfar s ¥, St 76 faweur # @
it w3 gar mar {1 RAeeul # {u v TEr-wep HERT & ar a9t
gRT goifw 71w §, ohar 6 U v o 3ncggl & ¥ el & waed 3R
ufeh &1 FEar 0 & 4 § AR WU A 5 A 91 3T WP F TH HeW
F Ugal ZEH G AR I A TEH TE g1 o S @HaT R
3GIRROT & ol ‘W’ r 30, 95, 3G ERT GRIFAT S Jehall © adTl ‘P’ &l 13,
89, G ERT GRFT S Thal &1 W e & U uA # QU g
“CROWN” & foT @afg @1 ugdraar &l

Matrix-I Matrix-Ii
-l -
0[1]2[3]4 5[6]7]8]9
0O[Z[M[V[B]|C 5|RIN[P[Z[T
1L|[T[B[P[F 6|G|A[F[B|D
2[K[N[O[M[U 70 T[A[K[S
3[W[D|F[G|V 8|L|O|H[R[P
4|C|[L[K[V][B 9 [W[S[U[T[J

Options:

1) 40, 57, 76, 95, 56

2) 04, 55, 75, 32, 22

3) 04, 55, 86, 95, 21

4) 40, 88, 75, 31, 57

Correct Answer: 04, 55, 86, 95, 21

QID: 4-

From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7 IR gl F @ 3@ I IHT A FAT
orm & uy sl AfRT &

N

Options:
B
1)
LA
2)
N
4)

Correct Answer:

A
N

QID:5-
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Which answer figure will complete the pattern in the
question figure?

Fa @ W P Uy FPa & udww & gy
FHM?

/N
3%

Options:

1)

2)

3)

VillwlZalV

4)
Correct Answer:

JA

QID: 6 -
If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

afy me gUUT @ AB Y@T W T@T W, & & T
T Aghaal # ¥ dla @ ey uw sy

T ufafee @efr?
K

Wr7777777>

Options:

A
1)

g
2)

&
3)

[&

Correct Answer:

S
S

QID:7-
A piece of paper is folded and cut as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

= F uy pfaat F REm 3gER FEe @
ASHT FT IAT Weld & dI¢ Ig 5T 3| e
St ferg ame

Tk

Options:

1)

2)

3)

L)

4)
Correct Answer:

)|

QID: 8 - If 'L' means 'x', 'N' means '+', 'O' means '+'
and 'P' means ', then

15L4AN603="?

Ffg 'L & 3 %!, 'N'F T HT '+, 0 F HY '+ FAr P
EE A

15L4AN603=7?

Options:

1) 32

2)74

3) 50

4) 62

Correct Answer: 62



QID:9-If9#4#1=419and9 # 1 # 6 = 169,
then

5#3#1=?
JREO#4#1=419TAT9# 1 #6 =169, dr

5#3#1=7?
Options:

1) 315

2) 153

3) 351

4) 135

Correct Answer: 315

QID : 10 - Arrange the given words in the sequence in
which they occur in the dictionary.

1. Fight

2. Fifth

3. Fifty

4. Frank

5. Faith

fAe=TaTEa ereal I Aseenler H 37 dre $H & ITAR
forg|

1. Fight

2. Fifth

3. Fifty

4. Frank

5. Faith

Options:

1) 54123

2) 53124

3) 52314

4) 54321

Correct Answer: 52314

QID : 11 - In the following question, select the missing
number from the given series.

11,12, 16, 25,41, ?

fArfaf@d ge # fou a1 fasedt & & ofcd 31 A
ST

11, 12,16, 25,41,
Options:

1)61

2) 66

3) 64

4) 68

Correct Answer: 66

QID : 12 - A series is given with one term missing.
Select the correct alternative from the given ones that
will complete the series.

AC, DF, GI, ?

TS e fear o g, fwd @ ue ug oed g1 o
a0 fAredt # F g8 T Ahed AT, ST IThA HY
Q@ A

AC, DF, GI, ?

Options:

1) K

2)I1L

3)IM

4) KL

Correct Answer: JL

QID : 13 - In the following question, select the odd
word from the given alternatives.

rAfaf@d a2t & U 71w Adhedl & & fAwe =g ar
gfav|
Options:
1) Arrow
dr

2) Knife
R

3) Gun
sigh

4) Soldier
dfew

Correct Answer: Soldier

s
s

QID : 14 - In the following question, select the odd
number pair from the given alternatives.

Arafaf@a g & U av Aseul & & (Awew g&ar
g7A Fr aﬁltro |

Options:

1) 13-172

2) 15-228

3) 16 — 259

4) 17 - 282

Correct Answer: 17 — 282

QID : 15 - In the following question, select the odd
letters from the given alternatives.

eAfaf@d ueT & feu a7v RAhedl & & fawe 318wy
& gt
Options:
1) ACEG
2) KMOQ
3) SUWY

4) GILN
Correct Answer: GILN

QID : 16 - Identify the diagram that best represents the
relationship among the given classes.
Pencil, Lead, Ink

€ 3@ AT S A Rw e @t & dr & dae @
g fAwaer e B

e, W, Fard

Options:

&

ey,
»LO

1)




QO

O
4)
Correct Answer:
ey,
O

QO
O

QID : 17 - In the following question, select the related
word from the given alternatives.
Force : Newton : : Area: ?

farafaf@d g 7 U 71w fawedt & @ Gafta reg
& gAT|

I 7S TR ?

Options:

1) Hertz

gt

2) Volume
3AdeT

3) Metre
HIeT

4) Hectare

FIR

Correct Answer: Hectare

gFW
gt

3)

QID : 18 - In the following question, select the related
number from the given alternatives.

29:59::76:?

fArAfaf@a wea & U 71w fYwedt & @ Tefta dwar
@ giaw|

29:59::76:?

Options:

1) 147

2) 151

3) 153

4) 149

Correct Answer: 153

QID : 19 - In the following question, select the related
letters from the given alternatives.

SN:VR::A):?

frafaf@a ued & feu v fawedt & & Tafda 3wy
& gAT|

SN:VR::A):?

Options:

1)CN

2) DN

3)CM

4) DM
Correct Answer: DN

QID : 20 - In the following question, select the word
which cannot be formed using the letters of the given
word.

BRODCASTING

fAefaf@d fasedl & @ g Usq AT S fqw v
ersG & 3T&RT FT TART dh Aal SeIrAT ST HehdT|

BRODCASTING
Options:

1) STAR

2) CAPS

3) GRAND

4) BROAD

Correct Answer: CAPS

QID : 21 - Ankit is 5 times as heavy as Suraj. Suraj is
one third the weight of Imran. Imran is 4/3 times as
heavy as Shrey. Shrey is half the weight of Gagan. Who
is the lightest?

3ifehet, GIST @ 5 A1 AR &1 G, $AA o R T
T fogrs &1 SN, AT @ 4/3 I AR § A, e
& I I 3T §| HIH Gohl Pl 67?

Options:
1) Imran

AT

2) Shrey

3T

3) Suraj
B3R

4) Suraj or Shrey

IS 3rar 5
Correct Answer: Suraj
B3R

a

T

QID : 22 - The ratio of present agesof Rand Sis 5 : 7,
5 years ago R was 30 years old. What was the age (in
years) of S 10 years ago?

RTUT ST IeiAT g &M 3qaid 5: 78, 5% q@ R
& 3 30 a¥ | 10 9¥ gger S Y (a§t H) FAT
ofy?

Options:

1) 39

2) 32

3) 49

4) 42

Correct Answer: 39

QID : 23 - In the following question below are given
some statements followed by some conclusions. Taking
the given statements to be true even if they seem to be
at variance from commonly known facts, read all the
conclusions and then decide which of the given
conclusion logically follows the given statements.
Statements:

L.All oranges are sweet.



I1.Some sweet are round.
Conclusions:

I. Some oranges are round.

I1. Some oranges are not round.

A U aw weet & Fo FUA 3N 3TF a1 3T FHUA
W IR Fo ey ou 1w g, greife a1 g
AT aZT & fReetar g Fehct g1 Tl sy 9 3k
R aRa F fF Ru 1w «ia & ey, Gr are
HYAT & IR TR FFFdae &

hYe:

I g8 X A1 ¢l

IL $& S e gl

sy

L 3o HR e §l

L3S HR el 67 &

Options:

1) Only conclusion (I) follows.

Fad s (1) & &

2) Only conclusion (II) follows.

Faa forses (I1) T8 2

3) Both conclusion follow.

arst g fashy @ér &

4) Neither conclusion (I) nor conclusion (II) follows.
T sy (1) 7 & Fsehy (1) T B

Correct Answer: Neither conclusion (I) nor conclusion
(II) follows.

o o TSRy (1) 7 & shy (1) aer B
art g1 foshy aer g

QID : 24 - In a certain code language, "ARMS" is
written as "BQNR". How is "BELT" written in that code
language?

& faferse &g sr #, "ARMS" & "BQNR" for@r Srar

g1 3§ FI5 9T F "BELT" & g W for@r sireen?
Options:

1) CDMS

2) CDKS

3) AFMS

4) CFMU

Correct Answer: CDMS

QID : 25 - In a certain code language, "AGO" is written
as "26" and "SUN" is written as "57". How is "CRY"
written in that code language?

U fafdse &g 9T &, "AGO" &I "26" IAT "SUN" &I
"57" for@r STar g1 38 @5 HI9T H "CRY" 1 R
ghR for@r Seem?

Options:

1) 47

2) 48

3) 49

4) 50

Correct Answer: 49

QID : 26 - A number when divided by 36 leaves
remainder 25. What is the remainder when the same
number is divided by 6?

Teh J&IT Hl 39 36 ¥ Ao frar Jar §, ar Q9w
25 UTed giaT g1 34T AT A 39 6 ¥ fasiaa foear
ST, dF AV FIAT GEM?

Options:

1)0

2)1

3)2

4)4

Correct Answer: 1

QID : 27 - If 2785P3 is divisible by 11, then what will be
the digit in place of P?

afg 2785P3, 11 & fasnfad &, af P & ¥ W &l &7
3 3uan?

Options:

1)2

2)5

3)8

4)6

Correct Answer: 5

QID: 28 -
What is the value of (340 + ./ ?

3340 + /o T FET T 2

Options:

1)9

2)7

3)5

4) 19

Correct Answer: 7

QID : 29 - What is the least number multiplied to 200,
so that number obtained becomes multiple of 60?

200 & OHY dieT W GEH SIET HEIAT UM A A, AlMh
AT HEIT 600 T I[OTST g1 Sre?

Options:

1)5

2) 15

3)3

4)8

Correct Answer: 3

QID : 30 - What is the value of 26 x 34?
26 X 34 I AT FT &7?

Options:

1) 904

2) 896

3) 908

4) 884

Correct Answer: 884

QID : 31 - How many zeroes are there in product 4° x
1502

4° x 15" & IUTARS F fhclel YT &2

Options:




1)10

2)12

3) 11

4)6

Correct Answer: 10

QID : 32 - A can do a piece of work in 20 days. He
worked for 5 days and B finished the remaining work in
42 days. B alone can do the whole work in how many
days?

A fordT I & 20 fgat 7 #X ahar &1 38 5 o
HI forar dur A HH B 42 Gt # qu fwam B
Heholl W H & fovcda &l H QU T Feh 872
Options:

1) 56

2)52

3) 46

4) 64

Correct Answer: 56

QID : 33 - Three taps A, B and C can fill an tank in 40,
48 and 60 hours respectively. How long (in hours) would
the three taps take to fill the tank if all of them are
opened together?

disT aTel A, B dam C fhdr T &l shaar: 40, 48 d2T 60
g # X gad &1 Ife Il o v @y @ Ru S
g, ar @eft Sfr Fr R F fhder gaY (ger #) o
Options:

1) 12

2) 16

3) 10

4)8

Correct Answer: 16

QID : 34 - If the ratio of edges of two cubesis 4 : 9,
then what is the ratio of the volume of the two cubes?
Ife & uell T 3N HT AT 4: 9B, A AT TAl
& AT T IeTATd T 87

Options:

1)64:729

2)16: 81

3)4:9

4)2:3

Correct Answer: 64 : 729

QID : 35 - The marked price of a chair is Rs 900 and a
discount of 10% is given. What is the selling price (in
Rs)?

T FAl &1 3ifhd Hoa 900 T § U 37 W 10% Fr
e & Sl 81 T Hea (% ) =T 82

Options:

1) 810

2) 890

3) 900

4) 870

Correct Answer: 810

QID : 36 - The marked price of an article is Rs 550 and
a customer pays Rs 495 for it. What is the discount
percentage?

Teh g&] HT 3ifehcd Hed 550 & & AT T A6 38h
foIT 495 % &ar g1 g gfaRrd &1 §?

Options:

1) 10

2) 12

3) 15

4)8

Correct Answer: 10

QID : 37 - If (2/3)P = (4/5)Q = (3/2)R, then what is P :
Q:R?

Ife (2/3)P = (4/5)Q = (3/2)R &, a@ P: Q: RFT &7
Options:

1)18:15:8

2)15:8:18

3)2:4:3

4)3:5:2

Correct Answer: 18 : 15: 8

QID: 38 -If 3A =4B = 12C, then whatisA: B: C?
gfg 3A=4B=12C@, ar A: B: CFaT &7
Options:

1)4:3:1

2)4:3:2

3)3:4:12

4)12:4:3

Correct Answer: 4:3:1

QID : 39 - The mean of 20 numbers is 35. If four
numbers 24, 20, 21 and 27 are removed, then what will
be the mean of remaining numbers?

20 TEAm3t @1 3rad 35 g1 afe IR @t 24, 20, 21
Jar 27 & ger fear Se, ar AW &3t & 3ad 4

grem
Options:

1) 38

2) 40

3) 33

4) 37

Correct Answer: 38

QID : 40 - An article is sold at 5% profit instead of 8%
loss, the man gains Rs 260 more. What is the cost price
(in Rs) of the article?

Teh aEJ HT 8% &1l & deot 5% ol W S W Th
safed #1260 T TR IIed B 1 € N HT Hod
(T #H) Fa1 8?

Options:

1) 1800

2) 2000

3) 1500

4) 1400
Correct Answer: 2000

QID : 41 - If the profit is 10%, then what will be the
ratio of cost price to selling price respectively?



I 1 10% &, aF FHAM: FT Fed adT fOwmT qoa &
3TUTT ST GIamT?

Options:

1)10:9

2)10: 11

3)10: 13

4)4:5

Correct Answer: 10 : 11

QID : 42 - If the price of a commodity is decreased by
20% and its consumption is increased by 30%, then
what will be the percentage increase or decrease in the
expenditure of the commaodity?

TS € T AT 20% FA T S § TAT 3HHT TId
30% §¢ STl &, o a&q W Ta & fovclel Ticerd

gig ar e gt
Options:

1) 10% decrease
10% T ST

2) 10% increase
10% T Elﬁg’

3) 4% increase
4% r iy

4) 4% decrease
4% T AT
Correct Answer: 4% increase
4% 9 iy

4% #r e

QID : 43 - If the price of a commodity is decreased by
30% and its consumption is increased by 30%, then
what will be the percentage increase or decrease in the
expenditure of the commodity?

T & B PAT 30% HA & S § aUT 3EH g
30% ¢ STl 8, o g€ W @Y H fohclel FicRIaT &

gfg ar & gt
Options:

1) 9% decrease
9% T AT

2) 9% increase
9% #r 3T

3) 11% increase
11% T aﬁr

4) 11% decrease
11% T ST

Correct Answer: 9% decrease
9% &I FHT

9% fT FHT

QID : 44 - Speed of a boat along the current and
against the current are 16 km/hr and 12 km/hr
respectively. What is the speed of boat (in km/hr) in still
water?

Teh AT &I AT ORI & 3Helehel oAUT URT & Fickhel
HAA: 16 fm. Ay /aer qur 12 F.a/ger &1 g I &
g & afa (A /aer &) Far 82

Options:

1)2

2)7

3) 14

4) 12

Correct Answer: 14

QID : 45 - A man travels 3 hours of the journey at a
speed of 100 km/hr and remaining 2 hours of the
journey at 120 km/hr. What is the average speed (in
km/hr) of the entire journey?

Ueh SIfFd AT & 3 €, 100 fom.ar./ger & afa & aur
AV 2 e, 120 Fr.AY/Eer A fy & TT Far &1 FET
gmar @ 3raa afa (A /ger &) Far g2

Options:

1) 105

2) 110

3) 108

4) 107

Correct Answer: 108

QID : 46 - An amount invested at simple interest gives
Rs 4200 interest at rate of 15% in 4 years. What is the
principal (in Rs)?

T YT ATUROT e4197 WX fider & Srdr g e 4
a¥ # 15% Hr & & 4200 & T AT &l &1 FAUT (¥
#H) Far 82

Options:

1) 7000

2) 6000

3) 8000

4) 9000
Correct Answer: 7000

QID : 47 -
The bar chartgiven below shows the sales (in crores)
of company P from years 2009 to 2015.
@ few ov gus RF & I§ 2009 & 2015 I FIAT
P & fohr (3g #H) T =T = g

600 - 520

500 A 450
- 400 - 330

300 A

200 A

100 +

350

Sales (in crores)
fashy (w33 #)
o

N
2009 S
2010 S
2011 S
2012
2013

2014

2015

Year / a¥

What is the percentage change in sales from year 2010
to 2014?



ay 2010 & a¥ 2014 d& foshr 7 fordar gfaria gRad
g3 &7

Options:

1)75

2) 175

3) 16.67

4) 25

Correct Answer: 16.67

QID: 48 -
The bar chartgiven below shows the sales (in crores)
of company P from years 2009 to 2015.

@ few o1v gus RF & I§ 2009 @ 2015 I FIAT
P &1 R (g #H) @ T =

= 600 520

o , 450

g & S 220 350

5 E 4001 399 330

£ & 3007509

Kg 200 -

2

s 108 . H
g ' o I - I N I ™ I < I o
8 o © o ©o ©o o
(9] N N N N N N

Year / 9§

What is the average sale (in crores) from year 2009 to
2013?

Iy 2009 & 9§ 2013 T 3aa foshr (@S #) a7 82
Options:

1) 340

2) 336

3) 360

4) 350

Correct Answer: 336

QID: 49 -
The bar chartgiven below shows the sales (in crores)
of company P from years 2009 to 2015.
@ few ov gus Rw & I§ 2009 @ 2015 I FIAT
P #r fafr (s #) F =T T g

600 1 520

500 +
400 -
300 ~

300

ey
o
o

450
330

350

200 -+
100 -

Sales (in crores)
fashr (¥ )

2013
2014

2015

o
N
2009 S
2010

2011

2012

Year / a¥

In how many years, the sale was more than that in year
2012?
fraer auf &, foshr a¥ 2012 & fos o4

Options:

1)2
2)3
3)4
4)5
Correct Answer: 4

QID: 50 -
The bar chartgiven below shows the sales (in crores)
of company P from years 2009 to 2015.
@ T arw gus R & I¥ 2009 ¥ 2015 G% HIAT
P &r R (0 &) Fr gt T F

600 - 520
500 - 450

. 400

300 -

200 -

100

0

Sales (in crores)
fesbr (w33 #)

2009 [ 18
2010 18
PN e—
2012 18
2018 ]
2014 18
2005 [ ]

Year / a§

What is the percentage change in the sale from year
2009 to 20137

a¥ 2009 & a¥ 2013 d& fashr 7 fordar gfaera aRade
g &2

Options:

1) 225

2) 150

3) 100

4) 125

Correct Answer: 125

QID : 51 - In the following question, some part of the
sentence may have errors. Find out which part of the
sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

These are super-interesting activities (1)/ keep your little
one engaged, (2)/ thrilled and off TV. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 2

QID : 52 - In the following question, some part of the
sentence may have errors. Find out which part of the
sentence has an error and select the appropriate option.
If a sentence is free from error, select 'No Error'.

Since they got something (1)/ different each

month, (2)/ they keep coming back to it. (3)/ No
Error (4)

Options:

1H1

2)2

3)3

4)4

Correct Answer: 1



QID : 53 - In the following question, the sentence given
with blank to be filled in with an appropriate word. Select
the correct alternative out of the four and indicate it by
selecting the appropriate option.

They look like .

Options:

1) our

2) ours

3) us

4) we

Correct Answer: us

QID : 54 - In the following question, the sentence given
with blank to be filled in with an appropriate word. Select
the correct alternative out of the four and indicate it by
selecting the appropriate option.

Both Sushant Rohit are handsome.
Options:

1) as well as

2) and

3) or

4) neither

Correct Answer: and

QID : 55 - In the following question, out of the given
four alternatives, select the one which best expresses the
meaning of the given word.

Subside

Options:

1) Descend

2) Enlarge

3) Prolong

4) Ascend

Correct Answer: Descend

QID : 56 - In the following question, out of the given
four alternatives, select the one which best expresses the
meaning of the given word.

Invade

Options:

1) Abuse

2) Ravage

3) Trash

4) Shred

Correct Answer: Ravage

QID : 57 - In the following question, out of the given
four alternatives, select the one which best expresses the
meaning of the given word.

Steady

Options:

1) Vulnerable

2) Flexible

3) Abiding

4) Wobbly

Correct Answer: Abiding

QID : 58 - In the following question, out of the given
four alternatives, select the one which is opposite in
meaning of the given word.

Immaculate

Options:

1) Clean

2) Bright

3) Pure

4) Foul

Correct Answer: Foul

QID : 59 - In the following question, out of the given
four alternatives, select the one which is opposite in
meaning of the given word.

Impute

Options:

1) Defend

2) Accuse

3) Assign

4) Blame

Correct Answer: Defend

QID : 60 - In the following question, out of the given
four alternatives, select the one which is opposite in
meaning of the given word.

Forsake

Options:

1) Desert

2) Forgo

3) Give up

4) Revert

Correct Answer: Revert

QID : 61 - In the following question, out of the four
given alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

To doctor the accounts

Options:

1) Very costly treatment

2) To manipulate the accounts

3) High class treatment

4) Auditing of accounts

Correct Answer: To manipulate the accounts

QID : 62 - In the following question, out of the four
given alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

On the brink of disaster

Options:

1) Something still in hand

2) Natural destruction

3) To die

4) Very close to failure

Correct Answer: Very close to failure

QID : 63 - Improve the bracketed part of the sentence.
Nothing (shows on) the ineptness of the state more
than unpreparedness in the face of predictable events.
Options:

1) shows off

2) shows in

3) shows up

4) No improvement

Correct Answer: shows up

QID : 64 - Improve the bracketed part of the sentence.
Prohibitory orders (will not) enforced, with the
government evidently viewing the looming protests as



pressure relief valves instead of as trigger points for
violence.

Options:

1) were not

2) willingly

3) were be

4) No improvement

Correct Answer: were not

QID : 65 - In the following question, out of the four
given alternatives, select the alternative which is the best
substitute of the phrase.

A place where arms are kept.

Options:

1) Auditory

2) Armoury

3) Apiary

4) Actuary

Correct Answer: Armoury

QID : 66 - In the following question, out of the four
given alternatives, select the alternative which is the best
substitute of the phrase.

A medical examination of a dead body.

Options:

1) Premortem

2) Postmortem

3) Prenatal

4) Postnatal

Correct Answer: Postmortem

QID : 67 - In the following question, a word has been
written in four different ways out of which only one is
correctly spelt. Select the correctly spelt word.
Options:

1) Eighth

2) Eaight

3) Aight

4) Eihght

Correct Answer: Eighth

QID : 68 - In the following question, a word has been
written in four different ways out of which only one is
correctly spelt. Select the correctly spelt word.
Options:

1) Grammar

2) Grammer

3) Grammured

4) Grammor

Correct Answer: Grammar

QID : 69 - Rearrange the parts of the sentence in
correct order.

If you shun responsibility
P: accept slavery in

Q: some way or other

R: you have to
Options:

1) PQR

2) RQP

3) QPR

4) RPQ

Correct Answer: RPQ

QID : 70 - Rearrange the parts of the sentence in
correct order.

Digital India programme

P: government of India to make this

Q: is a big step taken by the

R: country a digitally empowered country
Options:

1) QPR

2) RPQ

3) PQR

4) RQP

Correct Answer: QPR

QID : 71 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.

Today, when India is , these officials representing
all government departments are very close to the most
corrupt businessmen who are too to let any
opportunity of amassing profits . This collusion
broadens the base of the vicious circle and corruption
spreads 'like wild fire to the entire society. The
political and social guardians depend only too much on
the richer communities and they look indulgently on
while these communities hold the entire society and the
government to

Today, when India is ,

Options:

1) free

2) bound

3) restricted

4) chained

Correct Answer: free

QID : 72 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.

Today, when India is , these officials representing
all government departments are very close to the most
corrupt businessmen who are too to let any
opportunity of amassing profits . This collusion
broadens the base of the vicious circle and corruption
spreads 'like wild fire to the entire society. The
political and social guardians depend only too much on
the richer communities and they look indulgently on
while these communities hold the entire society and the
government to
who are too
Options:

1) ethical

2) unscrupulous
3) principal

4) trustworthy
Correct Answer: unscrupulous

to let any opportunity

QID : 73 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.



Today, when India is , these officials representing
all government departments are very close to the most
corrupt businessmen who are too to let any
opportunity of amassing profits . This collusion
broadens the base of the vicious circle and corruption
spreads 'like wild fire to the entire society. The
political and social guardians depend only too much on
the richer communities and they look indulgently on
while these communities hold the entire society and the
government to

of amassing profits

Options:

1) inflates

2) rises

3) slip

4) surges

Correct Answer: slip

QID : 74 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.

Today, when India is , these officials representing
all government departments are very close to the most
corrupt businessmen who are too to let any
opportunity of amassing profits . This collusion
broadens the base of the vicious circle and corruption
spreads 'like wild fire to the entire society. The
political and social guardians depend only too much on
the richer communities and they look indulgently on
while these communities hold the entire society and the
government to

'like wild fire to
Options:

1) complete

2) finish

3) engulf

4) deteorirate

Correct Answer: engulf

the entire society.

QID : 75 - In the following passage some of the words
have been left out. Read the passage carefully and select
the correct answer for the given blank out of the four
alternatives.

Today, when India is , these officials representing
all government departments are very close to the most
corrupt businessmen who are too to let any
opportunity of amassing profits . This collusion
broadens the base of the vicious circle and corruption
spreads 'like wild fire to the entire society. The
political and social guardians depend only too much on
the richer communities and they look indulgently on
while these communities hold the entire society and the
government to

society and the government to

Options:

1) restrain

2) detain

3) restrict

4) ransom

Correct Answer: ransom

QID : 76 - Average income is also called

taa 3 & Y Fgr Srar g
Options:

1) Net National Income

A€ TSET 3T

2) Net National Product

fad (7A¢) T 39T

3) Per-capita income

gfa safed 3

4) Total income

Fel I

Correct Answer: Per-capita income

gfa safFa 3
gfa safFa 3

QID : 77 - Which among the following constitute money
in the modern economy?

fFfolf@d & & @il MY Hdegaear # #qaT &
gch §7?

Options:

1) Only currency — paper notes and coins

Fael Hal - FETS & Alc qAur feFant

2) Only demand deposits

Fae f3As BUifae

3) Both currency — paper notes and coins and demand
deposits

HET - FAS & e aur R wd RBaiz B et
4) None of these

ST A FIS G

Correct Answer: Both currency — paper notes and coins
and demand deposits

AT - FETS & e aur At vd 3ATe B3uifsie gt

QID : 78 - What is the amount reduced by a token cut
in case of a financial bill (in Rs)?

el foer & #AHS & vl weldl GaRT HF H Alel
arelr i (I H) F7 872

Options:

1)1

2) 100

3) 150

4) 1000

Correct Answer: 100

QID:79-A government is a better government
because it is a more accountable form of government.

Th AT g gER @ 9B &, Fieh Ig
M T 318 Sarecar arem T&%Y gl

Options:

1) Democratic

EICSIEED

2) Monarchic

[ELIECT

3) Aristocratic

9
4) Autocratic




TahdiTaeh
Correct Answer: Democratic
CIERIEED
CIELIEED

QID : 80 - In how many Varnas people were divided in
Ancient India?

ITdieT ARA & Al & fohder quit & fqanfaa foear am?
Options:

1)2

2)6

3)4

4)5

Correct Answer: 4

QID : 81 - The government complex in New Delhi
consisted of a two mile avenue which is present day
Rajpath, was known as

5 ool Rya @Ry Qﬁw # oY Arer ater wEar S
A H UL §, AT A ST ST AT
Options:

1) Durbar

[-RCIRS

2) Civil lines

afder s

3) Kingsway

fheaa

4) Bylane

CIECC]

Correct Answer: Kingsway
[ETEC
IGIECECIESH

QID : 82 - The movement of the Earth around the Sun
in a fixed path or orbit is called

mfréaamamwﬁmaﬁﬁﬁqw‘raﬁr?ﬁﬁ
Fed ol

Options:
1) Revolution
qfRshA0T

2) Rotation
gola

a

3) Translation

3T]oT

4) Illumination

LAl

Correct Answer: Revolution

gRepaoT
gRepaoT

QID : 83 - What is the duration of hot weather season
(summer) in India?

RT & I FHiEd (1Y) v 39t F2r 82

Options:

1) March to May

AT ¥ A

2) October and November
HFC O FAGFR

3) December to February
feareR ¥ wad

4) June to September

ST & RAdER

Correct Answer: March to May

a4 A
ST & RAdER

QID : 84 - About 70% of our energy requirements
should be met by

ail, ST T 70%
IR

Options:

1) Amino acids

AT 3FT

2) Fats

gar

3) Lipids

IGIEE]

4) Carbohydrates

FegrsseH

Correct Answer: Carbohydrates

FegrsscH

QID : 85 - Gastric digestion takes place efficiently in

@@l

EaRT QU T Sirer

3T UTTeT THTAT &9 o
Options:

1) acidic medium
3FAT ATCTH A
2) basic medium
TR ATEIH A
3) neutral medium
3eTHIT ATETH H
4) None of these
S § FIS G
Correct Answer:

IFAT ATEIH H

acidic medium

QID : 86 - Rh factor is named after a species of .
Rh thaex T AT Th &1 Sifd W I@r I gl
Options:

1) Rat

Rall

2) Monkey

SeX

3) Whale

ool

4) Snake

ag

Correct Answer: Monkey



Crory
et

QID : 87 - The meter that measures the speed of the
vehicle is called

Hex S argsT &Y 1T AGAT §,
Options:

1) Speedometer

ATTATIT

2) Odometer

QATIT

3) Chronometer

SITATYT

4) Barometer

CIPEEE IS

S

Correct Answer: Speedometer

ATAHTIT
ATAHTIT

FHETCT Bl

QID : 88 - The image formed by a plane mirror is
always __ .

THAT gUUT ¢aRT dafo1 aren Ufafdg @da __ @
gl

Options:

1) Inverted

3ocl

2) Erect

orer

3) Tilted

Ciadl

4) Bent

a7

Correct Answer: Erect

e
3ol

QID : 89 - Where is the taskbar placed in Microsoft
Windows in the default settings?

ASHETTe TSI 1 fetlee AR 7 TFhar &gl gar
g?

Options:

1) At the top of the screen
el & iy

2) At the bottom of the screen
EhIed & s

3) At the center of the screen
EhleT & &g H

4) At no place on the screen
Tl oY e of STg e

Correct Answer: At the bottom of the screen

T & Jr
AT X frdt oY a8 18T

QID : 90 - The formula for potassium permanganate is

TR fRTH W & T gl
Options:

1) KMnO4

2) KMn,04

3) KzMn204

4) KzMﬂzOz

Correct Answer: KMnO,

QID : 91 - The elements in the middle of the periodic
table are called

At Ao % AT dedt P gl o
gl

Options:

1) Metalloids

Aea3issy

2) Transition elements

HHHAUT ded

3) Rate earth element

goleT gl ded

4) Noble gases

sepse I

Correct Answer: Transition elements
HHHAUT ded

ATANGSH

QID : 92 - A series of organisms feeding on one another
at various biotic levels form a

Rffe T TR W AT A AT SEt A v g
FM 3MER el arell @l __ &0 faATor el B
Options:

1) Food chain

3MER Al

2) Food cycle

e’ Tsh

3) Food web

ATE Sifel

4) Food level

e TOT

Correct Answer: Food chain

3MER Aol

3MER Aol

QID : 93 - Which organisation had helped for the
development of Digital Gender Atlas for Girls Education in
India?

AR # Bioea Sist oy B el Tl &
g & fov forg aTue o agaer fear ar
Options:

1) UNICEF

g, T 3. HL S TR

2) WTO

Seof. 1. 3.

3) WHO




4) NATO

T, T & O3

Correct Answer: UNICEF
g, U, TS, dlL S UR
g, U, 318, HlL 3. UR

QID : 94 - Who invented the lightning conductor?
afsa aree &1 snfaser foraer fhar am?
Options:

1) Edward Priestly

TEas OFeT

2) Vint Cerf

foc a%

3) Benjamin Franklin

ST e

4) John Dalton

ST 3TeceT

Correct Answer: Benjamin Franklin

AT HhehforeT

QID : 95 - Who is popularly called the "Payyoli
Express"?

ST T T "I TFAYE" FHid FHEATdT 87
Options:

1) Anju Boby George

3 |l Sler

2) P.T Usha

qr. & 3w

3) Jhulan Goswami

SioTeT INEarHT

4) Deepa Malik

grar Afelsd

Correct Answer: P.T Usha

qr. & 3w

ay. & 397

QID : 96 - Which is the most important work of the
Hinayana school?

AT T T FOH HGcaqUl HIH HieT AT §?
Options:

1) Panchatantra

SELE]

2) Mahavastu

Helded
3) Ashtadhyayi

Jrseregrit

4) Zend Avesta

SIS 3AEAT

Correct Answer: Mahavastu
HEIaE]

S

QID : 97 - Who is the first Indian women leader to have
been honoured with the "Social Entrepreneur of the
year" award at the 7™ Asian Awards in London?

deeT H 7-9 TR qWERRT A "HRAT QAT
SETH" [WERR § FEARG 2 Al TEelt aRaR
Afgelr Aar HT g2

Options:

1) Asha Bhosle

TR e

2) Paul Sagoo

arer |

3) Nisha Dutt

forem gcd

4) Neeta Ambani

AT 3ETer

Correct Answer: Nisha Dutt

forem gcd

Arar ETer

QID : 98 - Who is the author of the book named “Prison
Diary"?

"fOreteT ST SATHS GEAR F oG il 82
Options:

1) J.P Narayan

St dr. AREOT

2) Harbhajan Singh

gt g

3) Javed Akhtar

ShE e

4) Amitav Ghosh

3fAae gy

Correct Answer: J.P Narayan

St dr. AREOT

fAdE 8w

QID : 99 - India became the full member of
Missile Technology Control Regime (MTCR).

sRa fAase diefad fadaor sgaedr (THAR)
FT &g T g
Options:

1) 35"

35-ar

2) 18t

ggell

3) 20"

20-ar

4) 8"

8-ar

Correct Answer: 35
35-ar

QID : 100 - India and have set a joint working
group on fisheries to address long standing issues of
fishermen from Tamil Nadu.



dfAess & AEIR & o Ay @ Rafea a2 |
AR U1 o U §ged i Fefg TUiad famar
gl

Options:

1) Pakistan

qrfeREdTet

2) Maldives

B

3) Bangladesh

TSR

4) Sri-Lanka

Hrerent

Correct Answer: Sri-Lanka
et

et




